EAGRAROBREERT — 2 N— ABISH —F

202058108 (H) 1E#HHE28

i o REE 4t KRBT EE

‘ (%] Jl"ﬁ‘ [eEmhll  — | B (%) 2600M &

[A&£] 1 7% :7,900,000  ~ 23 :3,200,000H  37%&:

2,000,000 B

4 7% 11,200,000 5 & 790,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
—-—- o4 | ZEEEA 3:07.6 1-1-1-1 [13.0| — 3 452 | BB—& (R®)
11814 - 59.0 - g | BE
LT RYA Y L—> BFAT—FK AtEdis
LA S £ 7 | BEER 3:08.2 3-32-3 | 13.0| — 2 508 | mtEICHE (55iF)
olgli3| 71 7T 54 [B] ~ " 60.0 3 1/2) w2 | B FvoyrTr-4
R:F4—TA2NN7 b BT v —IN>F J—HTr—LA
s 2 7 | BEHE 3:10.3 9-9-7-7 | 13.2| — 7 506 | EFEMER (FEX)
gl1]1| N FATA AL T o (519) o | ) yrFoL_siy
R:yA7% BiL—ZYq2Y J—HrTr—L
5 . £ 6 | WARE 3:10.5 5-5-6-6 |13.2| — 8 478 | BB ()
4 6|®F7 —FXbK—=T - 60.0 (' 1/4) (-a) (H)g/)l«V‘/?»r—"j’ﬁjl/‘y KR
R:aArFafy b B:Xv—F43T—> BEX &Y K
= 2 6 | EFHF 3:10.6 12-10-11-10{ 13.2 | — 6 456 | BRES (EH)
5 9| ¥ATH - 60.0 (3/4) ) (H’()EG')EI—)I/' L=y
R:TLA4U5>T79 B:vabhI>I> B
44 | dLiRfat 3:10.9 6-7-5-5 | 13.2| — 10 | 456 | =W (E®R)
6|2[11| KIATT IR 89.0 (1 a/4) o | NEER
RixyyULdyk B:E=/ITELC R BEAZZY K
N 4 5 | HEHEH 3:11.2 6-8-7-7 | 13.2| — 12 514 | ZREET (ER)
7157 O—2XX 60.0 (1 3/4) (-4) s
RO—XFLIEL BTIUTIRE SREAS
. s 4 7 | REREX 3:11.8 3-4-9-9 [13.3| — 4 476 | HFBT (EBR)
8l712| 7=K7 7T 60.0 (31/2) (o) | PEEY
Lv—NFIAYF— BTN T~ TVFZXTF—=TI
A s =S S o4 | LEA 3:12.4 10-10-11-12 13.3 | — 14 | 512 |fREEM— ()
9(5|8 ®IN)FTLTZgR 59.0 (31/2) (+6) BEET
Rib—tPRILEY BINUTLITUH XF @A
LS. 49 | ATEMEE 3:12.6 10-10-10-10| 13.3 | — 5 486 | EREI (EH)
10 2 A9 TIvT 60.0 (1 1/4) (-2) BHA
RTITRAFTEIN B AYAN—I1—X L9545 77— 1
4 g | AWE— 3:13.5 12-13-11-13| 13.4 | — 9 538 | FEEX ()
11 3| AE=7 77U~ 60.0 (5) 46) |, ) HAEL—ZK-X
R:F4—=T14>no b B:XE=—0>70-)v7 HET7—L
S . 4 8 | BEME 3:13.8 2-2-2-4 | 13.4| — 1| 502 | SHEMHE (ER)
12 10| ¥ 2 JAR— b 60.0 (a1/2) (o) | BEEX
L:n—E>Yvy— B:7xi70-L J =Y Tr—L
5 | EEFAR 3:16.2 14-14-14-14| 13.6 | — 13 | 504 |FEEEHLE (EH)
13 5|1 bET> 60.0 (21 4) (+p) | AmEIEIE
R:hE—Xa—F— H:YUav3aAY EAE T
.. TEAH _ —5-0-2 — — IROERE (ER)
W - MESOPT IR "6 &0 R Vo e wes
LN=F—2y T BIA %% FERS
@ 21 L
£y 50.3-37.2
ngraAq L
® I—F—&EBIERL
15l=2r= 14,10(12,13)-6(7,11,4)-1(2,8) (3,9)=5
20—4— (¥14,10)-13,12(6,4) 11-7-1(2,8,9)-3=5
3a—+F— 14-(10,13,4)=11,6(7,1)-12-2(8,3,9)5
40—7— (x14,4)13-10,11,6(7,1)-12(2,9)8,3-5
[ N
B R 14 660M | | 71 K 13-14 4001 | | # = 8-8 1,170 | | =48 | 1-13-14 5,010
B B 14 210/ 1-14 1,740H B E 13-14 1,140/ 3EE 14-13-1 24,940/
13 130H4 1-13 780M B H 14-13 2,800M
1 380H

ABRICOVTHRTEEERROODE, THEB LS,




